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Steps for multiplying/dividing:

1. Factor the numerator and denominator separately.
2. ldentify restrictions (where is denominator = 0 ?).
3. Divide out common factors to simplify.

Steps for adding/subtracting:

Factor the denominator.

|dentify restrictions (where is denominator = 0 ?).
Find the lowest common denominator, LCD
Express each rational expression with the same LCD
Add/subtract the terms in the numerator, keep the LCD
as your denominator.

Factor the numerator, if possible, and simplify.
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All (four) operations with Rational Expressions

Ex.1 Simplify and state any restrictions M’#ﬂl
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Homework:
p.68 # 10 aceg, 14adf

Additional questions:
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+
2x—3 x*-9
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Mar 20-11:27 PM
4@
)
m+3 M+ Sm
A7 Mt mt |
_ M1 Sm
= + =
il Mt
_ bmtz
Mt |
- 3(20\4?\)
M+ |

Mar 25-10:27 AM



04x BEDMAS with rational expressions.notebook March 26, 2011

14¢f)
% -3 b2 | m-l %A D

Q) (%-2) " 43 T 43

_ A+ A
o2 T sz L G- xt3)

= (‘K'I'Z)(ul-'s\ .

< (P4sxtt) ~ (b 122
(c-2)Y(x+3)

= X mkXNR s camngt be fhotored
(e 2)(d 3 n# -3\,

Mar 25-10:30 AM



	Page 1
	Page 2
	Page 3
	Page 4

